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@ 0<cosx<1

@ -1<tanx<0
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7. The A7) glol A A 2L

@ sin30° @ cos30° @ sin90°

@ tandb° ® tanb0°
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2t | ARRl(sin) | 2 AFRl(cos) | EtMIE (tan)
39° 0.6293 0.7771 0.8098
40 0.6428 0.7660 0.8391
41° 0.6561 0.7547 0.8693
42 0.6691 0,7431 0.9004
@ 40° ® 41° @ 42° ® 45°
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14. 0°<A<90° ¢ o, oh22 7HAs] S5HH?

\/(COSA +1)% + \/(COSA -1)* + Vdcos?A
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Zte sin cos tan
44 0.6947 0,7193 0,9657
45 0.7071 0.7071 1.0000
46 0.7193 0.6947 1.0355
@ 1.022 @ 6.947 ® 7.071

@ 9.567 ® 10.355



17. o 2”4 siny + cosx O] F-2?

3 4
®g ®g ® 1



18.

48in?45° + tan?230° x 2 cos? 45° 9] ZF&?

@ 4 @ 5 ® 6 @ 7



19. o2 1¥HA /A =60°, BC = 6cm &
W, 919 0 o AT Aol
@ 3cm @ 4cm
® 3cm @ 24/3cm
® 3vV3cm




20. o= 2"ANA y* - x of 27

® 8



